; .103. The area of a semi-circle of radius 7 c.m. is
A 1 cmi
By 777 011;12 |
© 1 cmz’
M) 7777 cm?
T Qa.18, <umid 2 dar ey UL gdlem Ly
(A)  7Qs.8.2
B) 777 Qs.8.2
“ (@ 17Qs82

D) 7777 Qs.8.2

104. " The oxidation of SO? to SO?" ion by oxygen
SO + O —> SO?%", in this re'aétion which is Lewis acid and Lewis base?
: _(A) SOg; is Lewis acid and oxygen is Lewis bése
B) Oxygen is Lewis acid and SO;T_ is Lewis i)aée
(C). Both are Lewis acidé |
(D) Both are Lewis bases
< s8lmenans Qama(h SOg_ WPSD SOi‘ & RCammd Gewiub &@asrr@ﬂa allenemue,
SO +:0 - SO%
gl @mudlev Siflewrsalb g nuilev EmFomEe, Q&u_ud)u(‘b\é;]!jgl? b
' (;X) SO;” gnilev il wHHLd < bfgen griev sy
9 (B) .oysiigen gniav enfle whmid SOF @nids sy
() . @ramdib gruiav iflenisar
- D) @Qren®id gpuiev smyriseT
. .GR2ATNT a8

Scahned by CamScanner



ax 18 charged on som
" Ts ¢ items which
i are manufactureq jp the
country. This is collected b
y

the Government of India. 'I‘lns Ta
X is

(A) Direct Tax
B) Indirect Tax
(©) Excise Duty

D) Service Tax

pr ;r;rrf_\%b o HUGS Qautiu®denm Qun(me ar Slovsuf Gt |‘B 4 £
‘ : (THenS [D,ff)\ g aufl dNHasnu@Hen ;
o ® 0. @Q (L]

o sEEE QeSS i afl
(A) Cpies eufl ‘
B)  wopBE wr‘ﬂ.

a (©O) Feoome euifl

D) Cseou aufl

109. The value of _x_:_%x; « 3;: :r 26
@ B
@ 3
©) 3x-+ 2
D x-2 t,

X ?—2x xwmmﬁuu
X% + 2% x—2

@) 3%
. (® ..' 3
(C) 3x+2

(D) x—2

31
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he was thrice as old as her what ap,

110. A boy is now twice as old as hjg sister, four yeare e

their ages now?

@A) 189
B 14,7

©). 16,8

® 126 ' " | |
V | i Cure @@ WLEEG: 4 aHEEEG |

@O euwefler ,‘SEbGLJITGmgSUJ CUWIG Dfeueng) g@m&lﬁ]m uwend ’ Gunmg
' s ALY S _oauiEaTE SO W
QPO SlaoT UL SHoud g auLIELIEITE I DLEG T e

QUILIZ;) GTEHTEN ?

@ 189 . |
® 147 L Ly
(e i6,8 L | &

(D) 12,6 | Mttt

111 4¥2.9=16: Jz . What is the value of x?
| e Al
A) =16 ' , : \\ 4 :

B) 3
€ |2l . - i ok
' e AN

@ﬁ £12

L92.9=16: Vx araflés x dr By arera? -

¢ =16

® %3

.(C) t4

(D) +12
GRZ_AT/17

Ry
R
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113.

Total surface area of hollow hemisphere is equa] th
@) ZJZ(R2 + 7‘2) Sq. units
" (B) 27T(R2 —7‘2) Sq. units
(€) ﬂ(3R2 +1?) sq. units
o #BE*-1*) sq. units
o arafLH amgé Cé&nm{{r;@ein anggquguguu :
(A) 2n(R2 + r?) .  Slw@se : ..
® 22 -1*) 5 s

o @ (3R +T2)5é{(;1)(§.53'n- |
@ B3R*-r?)

&. SVGaEeT

The probability that é leap year will hav-'ev_ 53 Fridays or 53 Satﬁrdays is.
. 1 - i v
L |
2
SaE
3
© 7
4
@ = ] |
g;@ 6L G\J®L§§1é\) 53 Qeudr’raﬂésa%@_mpesdr ag’uqﬁg 53 gafladlpeninser m@mg;fpé;rrm Hapssa snems
- 1 o MW EE \,4-3 R
A o \ X \.
o® 2 'Y / g T T T
7 5 R A A"
@ - 3 S %' % §“7/ g
N T gt
g L TN | [0 %
DR ) | '
33 : | - GR2ATN
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- 114, Factorization of (x +y)2 +9(x + ¥)+8 is
A) (x+y'+l)(x+y)

®  (cry+D)(esyeg)

©) (x+y+1) (x+y+6) wt .
., C 44
D) (x+y+8)(x+y+2) " N ‘4"\ \
; 9 i ) .‘_\j:‘;g /1:{‘\7 4 \'
v (x+ )"+ I(x + y)+ 8 —en smpenflser CaL? ¥ , \E}r w i
L | N
@ rye) ey &

cdll (x+y+1)(x+y+8)
©) (x+y+1)(x+y+6)

@) (x+y+8)(x+y+2)

115. What is the difference between the sum of first ‘n’ odd natural numbers and that of first

-‘n’ natural numbers?

' B | n(n-1)
@ 2 @ o)
© n(n+1) ’ R " O) n{n+1)(2n +1)

9 - = g | 6

=
/

s ‘1’ @mmgp @u.la) cmna;erﬂem &@gga@m WS - ‘w @uJeu srammﬂar FDFQIEGD 2.6
l‘h

-6l UJrI'&LD GrGoTafr? ‘ . FARSEE LR 2 : 33
58 ‘ : 5 L 3 _(é, e b 3
! ; ‘ ; . ' Al A x . :,L-’ 5
E Y F g ] ‘ g ' (“ "'("' 1) ).r

b ' '2 L B R S €A A

© n(n+1) | : T D) n(n+1)@n+1) . % .
B T e oAy
. PRI N 4y § N
g nantiLy S - T 2 +~“”\j; e Y
g
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116. Which of the following i arranged in correct asceng;
. Ing order?

(A)  25%of 8, 40% of 6, 30% of 9, 205 of 15
(B) 20%0f 15, 25% of 8, 30% of 9, 40% of g
(C)  30%0f9, 40% of 6, 25% of 8, 209 of 15
(D) 20% of 15, 30% of 9, 40% of 6, 25% of 8 Q}b
. . ) . . . ' .”\‘.3 \‘:
darau@euereupmier erg) sflwmrar ermeufensue eI ererg 7 _ '\,«/‘,:0
i - Py“\ U
O @ 80 25%,  6040%, 9630% 150 20% NCRC
| < e
B) 15020%, 86 25%, 96 30%, 66 d0% X
(©)  9930%, 6&40%, 8 25%, * 156 20%
D) 15020% 930%, 66 40%, 8 25%

117.
@A)

®)

©

)

@mm@mmmmglm uu;ruumaﬁla) Gufﬂu.lgl o1g1? |

Q)

®B).

<

A 1O‘QéLB ué;esﬁ) o _grer FOLIGS (PEGETETD o ‘(4

Which of the following is larger in area?
A triangle with base 10 cm and height 8 cm

- A triangle with sides 12 cm, 5 cm and 13 cm-

An equilateral triangle whose sides are 10 cm each

A fight angled triangle whose sides containing the right angle are 3 cm and 4 cm

n‘ /
Uﬂ“ L % :
Sigliugsd 10 @a1S, o wd 8 Q&b Ga;mvn_ @a;(%&rrmrm ;
' gy
12 Qs18, 5 QB Ln,r:og)ub 13 Q&LB LRI 2 drar péGanamd ?

Q&@G&nmg,mg; 2.61T61TL.85£]IU ugamisaT 3 Qe ppib 4 G&LS 2 dem @a;('&mamm .

D) .
| W (- o
P WF" \o
ps 35 L GR2AT/17
' %f YWS 4. o, T “[Turn over
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118. The nrlthmctxc mean of a group of 75 observations was calculated as 27, It was latel‘f
Ung

119.

bR R R

. s | ' ‘ : o YL DR ’ '
R2AT/17 R S ST ?ﬁ*)& B

that one observation wag wrongly yead as 43 instead of the correct value 53, Obta1 th

correct arithmetic mean of the data.

() 26.13
(B) 27.13
(C) 28.13
D) 25.13

75 aasmend Qe ) an@Q@m gyrefl 27 erané sewsEL LUl L g Geny, 58 ereiy ey

samisens 43 erengy uln,ésesuul_L@ Genenit g;am@lﬂlq_eaa;um_L_@ cTarGou, cg;g,@g,rr@gg]us]m .

ggrsflepws srewreyb. " e w Ag
. , Lo cov -
ST PORLEEL 1

Q) 2613 SRR _ ‘
B 5 4 k1> 9§ ¥

.....

3 2713 . 4 L
L g Muew

©) 28.13 - W :
' # 3 A S
®) 25.13 ® - ] 0E 4.1 ol

A sum of money triples 1tself at 8% per annum over certain time. The number of years is

equal to

A 24 :

® 2

© 20

‘O 12 | _ .

TESDAT YRTHSET pig 6léh (5 GO .e;;éa)rrcurgj 8% GuLIg éﬁggﬁo’.) epeT ) oL EIBTEID

@ ‘@ﬁ/{.

D) 12 | s | \ { T
Lo B b

T ‘1
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T e A ISR

uF - ase 1s in circular form is d
159. The cylinder whose base is not 1 cular form is calle

(A) Circular cﬁinder
(B)  Right circular cylinder

(C) . Oblique cylinder

(D) Irreéular cylihder

QI g@mmu.‘ﬂdﬂ Siiq ILITELD QUL G]qu.QﬂG.\).
(A) el e (meer

(B) GpieulL 2 (Hewer

‘ amiia) o (Henar

D) euEsHD > @@ar

\

160: 10 sq. m. is equal to
(A) 100 sq. cm. .
(B) 1000 sq. cm. 4

©) 10000 sq. cm.

Bévane arafled 21! GTEURUTT SIEMPESILIHID?

™ 1ooqoo sq. ém. .\o"‘ﬁ
- L e -
10 182 erainig) eTgH(E SLOLD? A \0. i }v\/wm 2
(A) 100 Qzi82 e (- i
< ]

(B) 1000 Qei5? {
«(C) 10000 Qa2
@100000 Qs:5°

56 p

GR2AT/17
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T
P Rl -
0

162.

i

Gl 20 oL 56T
B) 50 .oy aar
(©)  30gyadr
D) 25 YA 1° ¢

A

the tOP"

® Frequency

(B) Histogram

© Cumﬁlative Frequency-

) Rectanglé

e 18 often drawn as a guide, so that a frequency polygon €

§ 59@@@' LGCSTETLD QUL G eulflsm g wns (euanyw) @HUUS!

A) ﬁ&@@maﬁr
. ;ﬂsg’p@éuc&n Qscueusid
¢© @efley Pap@auar

®) Q&cueu&D

If 100 persons can finish é work in 7 days,
35 days?

| (A) 20 persons
(B) 50 persons
(C) 30 peréoné |
(D) 25 persons

100 1" sar () Geuemaei 7

agsments GUT GgmaeuLBeui?

‘how many persons can finish the sa

an be drawn over

me work

B sefld (plgbad s (LD creiled &G,s_(',‘émmmmu_l 35 prL_safled (ynq.é;asr

¥
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163. What percent of an hour is 36 seconds?

(A) 6%
®) 1%

©)  10%
D) 36%

36 cflamy. crenLigl G Lailuid Tresaman §56151D GD?

A) 6%
- 1%

©) 10%

(D) 36%

ied (xm)m-m [i)rwl [‘_l)hm _ k> (CM) (’\,/f\ﬂl)
x" 2 Tlam (:) , O e
) " Cﬁ’ NS :
sqi® 1 (e v v
| (, . 2
i () A .
! " . h}d "’/‘9".
(C) X < %‘J/ﬁ .
¢ Yy
1 T
(D) xm+n+l é‘\ ‘
™ m+n X" n+{ I l+m—
=G E
Aa 1
® -1
(C) xm+n+l
®) 'xT]:ITz
p

GR2AT/17 : 58
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')
1 1.9 /L
1/+1 B"" C=x and D=- then what is the value of C2B A5D10 /
if 4" y
¥ /é

1.6
), | | | .
qeTUE@E + eremeydb, B eenugeaen +  erenayw, C Gremug@{tﬂ >< N
' 1 N & <0 \/\é,
])créﬂuémm — eremeyd Q&EmesrL_med ——C2B A5DT6=_ ‘\/)( 9 é
oo \ %Q'ﬁ SN A
2.1 st Ve 2
®) 1.2 (\'}x s e . :
‘ N
© 25 \/‘\‘ 4 \f/ \& R /\./.@‘ ‘/
SV x 7% <
D) 1.6 | | /ﬁ ’\é 7 \/ 7
. J(c\, \/‘// \p\/
- - v XS s
x =1 —1 +x+l_, ‘ : /‘é 'g, v, \/
166. The value of : g ¥ K% o
) x+3 33;+ , S 2 \\/
(A) 3x-1 . _, | |
® 3+ | | |
. U\,\- 0. «:Y)
© 3(x-1) Ry | , -/o\
v A X T "
D) 3x+2 s
AR S S
-1 x®+x+l . o , ~ .
x+3  3x+9 mm&uu. } /
@ 3x-1 | | .\ v
®)  3(x+1) e 4 >
- 3(x-1)
M) 3x+2
B & GR2AT/17
[Turn over
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32 2 .52 7
167. What is the 85t term of the sequence X, X 2 a2

A) x?
45
2 \
B) «x - %} Ay\ X
© 2" ‘.;"’1/ V 14 c\,"\ \%-
P .
44 N \
®) «x “y_ f%: LS, g v 77
x, ¥V, x; 2%, 2 arenp Qg cuflenaufer 85 o myiiny ereinen?
page 1 8nw v A
5 ) S e
A «x? g‘o .
i 2 B3+ -
B) «x?2 o —_
L
o
(D) x44

168. The radius and the slant height of a cone are respectively 7’ and ‘7. What is the volume o

the cone?

@) ém? B

B) -1—7zr2 P4r?
3
©) zrl
@) zr(l+r)
R Sab e <7ib b smywThd pepGu ‘T’ HmIb T erafld b6 seTsiaTey craTaT?
. %nr2 -
B %xrzw/lz +72

©) zrl
D) zr(l+r)

' GR2AT/17 - 60 - B

R
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W 10
® 20
© 0
® B

10)0’,2»5“_29L§5 ----- eranD QgmiirouflensuQer 216ug) 2 mitiLy ereman?

@ 10 | St 0>. .
: (\Qf j+—
| a X W
® 20 VI >
” 0
® 5
. 2x*-162
170 Simplify : (x2 +9) (2x —6)
@) X2 _9 Q /&\ .
o B) 9;+_3.
C) x+6
® x-6
9x* —162

HHESS - E+9) 2%-6)

@) %*-9
a»® x+3
C x+6
- D) «x-6
B _ | 61 8 GR2AT/1T
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171. Ifthe LCM of x and y is z, what is the H.C.F of x and y?

w =z | ® =
G = D) xy
X

x, vy @aupder 8.Qumo z erafléd x, y & B.0um.el. erenen?

2y = g = Lomk Hep
- 2 ® = sl |
© = D) xy R

172. The number of delegates who attended the first session of the Indian National Congress was

@A 25 . B) 100
© 12 ‘ (D) 2000
QnHw Cs8lw srridlyedler s sl L AgrLfe sopg Qarar rdHldaaflar cramanlisms
A 25 . (B) 100
s§O T2 S (D) 2000

173. The revolutionary nationalist Nelakanda Brahmachari was born at

(A) Thirunelveli

(B) Madurai.
(C) Sirkali
(D) Chennai

qULé\a;rfmnm Gadlweurd) Bovsarr 19ybwésril GpHs GL1b
@) BEOpdGad

®) oz
0 (C) &wsmf
(D) Qeamear
‘ f
GR2AT/17 7 ‘ .
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